IlepeyeHb OCHOBHBIX JI€TAJIEH U V3J10B

YTBepxknato

TIHJ1bI TOPIIOBOYHOI 110 IepeB 36 | Illaiiba cneuuam:Haﬂ 1 83 | Ilpyxwuna 10,2x3,23(0,7 1 TexHuveckuil TUpeKToOp
TI-1.5-254 37 DrraHel] BHEITHUA 1 84 BuHT cnenmansHeii M4x18 1
OTA-1.5-254 38 | Jluck 1 85 | Ilnumaens 1 AnncenxoB O.A.
39 | dnaHen BHYTPECHHHMH 1 86 | Illmonka 5x5x10 1 “« 7 2011r.
Ne HauMeHoOBaHHe K 40 | Lllajiba yBennueHHas 5 1 87 | Buntr M8x12 1
1| Bunr M6x16 1 o V6 ____ i 88 | Waii6a ~ Dwryr=20; ! 128 | Jlnagparma I
2| Taiixa M6 l OVIeyX TOABIKHLIN Den.=27,7, $=0,5 129 | Hommmmmnx 6001 Z 1
— — 42.1 | KOJBIIO 3aIOPHOE 1 89 | Iommuunauk 6304 1 12x28x8
3 Kponmireiin HuxHUI 1 (12x28x8)
4 VYkazarenb 1 422 | pomnk ! (20x52x15) 130 | Sxopb 1
5 Bunt M4x8 1 423 KOXKYX 1 90 KO.TII)I_IO CTOOPHOC 20 1 131 HO)IIHPIHHI/IK 6201 Z 1
= 43 | lnanka manas 1 91 | Koneco 3yduatoe z=43 1 (12x32x10)
6 [1laiiba npyxunHas 4 1 22 1B M5x14 " 1
7 Ilaii6a 4 1 unT M5x14 (norai) 92 | Kombuo cronoproe &16 1 132 | Bunat M4x10 norait 2
8 | Burr M6x16 1 45 | Iipywwmna 40,5x4,6x1,5 1 93 | Bunt M5x12 (oTaii) 4 133 | Pyuxa saxuma >
9| Taiika M6 1 46 | Bunt M5x10 (noraif) 1 94| Kopnyc penyxropa B cGope 1 134 | Bonr M8x30 4
10 | Boxr M8x30 3 47 | Bunr M5x10 2 94.1 | Brynmka GpoH30Bast 1 135 | Illait6a npyxunnas 8 4
11 | Iaii6a npyxuHHas 8 3 jg II:IH? HK?\/I 5 i (Ha cxeme He BHIHa) 136 | llaii6a 8 4
12 | laii6a 8 3 anka 94.2 | KopIyc pesyKTopa 1 137 | BuHT 3axuMa OOINBIION 1
50 | Bunr M6x20 4 95 | Bunr 4x12camopes 2 (pe3pba M12x32)
13 | OrpaxneHue npyKuHbI 1 51 | Lai6 3 2 =
14 | IllaiiGa npyxuHHas 5 1 aiba pyxHHHAAA 96 | Ulaiiba 4 2 138 | BuHT 3ax1Ma MaJibli 1
15 | Bumr M5x10 1 52 | Pemerka narpy6ka 1 97 | Bunr 4x16 camopes 1 (pe3nba M12x22)
16| Boar M16x110 1 33| IarpyOox ! 98 | Illatiba 4 ! 139 | Vnop B cbope 1
" = 54 | Bunt M4x50 1 99 | IepexmoyaTens MOACBETKA 1 139.1 | ynop 1
17 | KpoHureiin BepxHuii B coope 1 =
- 55 | Kokyx 1 100 | KoHTakTHOE YCTPOMCTBO 1 139.2 | mkana 1
17.1 | xpoHITEHH 1 56 | Taiixa M6 1 01 1B %16 I
17.2 | maiiba npyxunHas 6 2 o2 MHT OX 10 camopes 140 | ITnanka crona _ 1
17.3 | Bunt M6x16 P 57 | Wnumeka M6x25 1 102 | TlnactuHa npuwKUMHAas 1 141 | Bunt M4x10 norait 4
: 58 | Bunt M6x20 1 103 | BunT 4x12 camopes 2 142 | Ilaradok 2
17.4 | mkana 1 =
— ~ 59 | Taiika M6 1 104 | HInyp ceresoii 2x1,0 MM. KB., 1 143 | Cron 1
17.5 | KpOHIITEHH mepexoaHON 1 60 = 2 >
17.6 | Brynka 1 Laiixa M IIHHE - 2 M 144 | Ilaiiba euyr.=10,4; 1
- 61 | Ilaii6a 4 2 105 | Tpybka 3ammTHast 1 OBH.=19.9: S=1.9
17.7 | pyuka crormopa 1 2 | B M4x8 3 < =19.9] )
17.8 | wndr 3x20 1 UHT MAaX 106 | Taiika cnenuanbHas MS 4 145 | Pemterxa crona 1
. 63 | OrpaxaeHue IucKa 1 107 | Beikmrouarens 1 146 | Illaii6a 4 2
17.9 | npyxwuna 10,5x15x0,5 1 4 |1 1
17.10 | cronop 1 o mp”f‘g”“g 1 108 | Konzencarop 1 147 | Bunt M4x8 2
18 | KpoHIUTeHH MOICBETKA 1 © B a7 ;[ <14 1 109 | Bnok 1 148 | Illaii6a npysxunHas 4 2
19 | Bunr M4x10 1 MHT VAX 110 | BunTt 3x6 camopes 2 149 | Vkazarems 1
20 | Bunr Max12 1 67 | Ilaii6a 4 1 111 | Monypyuxa nesas 1 150 | Bunr M4x6 (notail) 1
= 68 | Bunt M4x8 1 112 | Ilaii6a 4 3
21 | IlaiiGa 4 1 69 | Cxog 1 151 | [lapux &8 1
22 pr)KI/IHa 34X39X5,4 1 Koba 113 Bunt 4x22 caMopes 3 152 pr}KPlHa (7,7X26X1) 1
70 | Bunt M5x10 2 114 | Honypyuka npasas 1 153 | C 6 1
23 | Brynka npy>xuHBI 1 > TaHHHA B cOope
71 | Ilaii6a mpy>kuHHas 5 2 115 | Kpsmmka 3agsss 1 153.1 1
24 | TloxceeTka 1 = 1| cranuna
25 | Poaar 1 72 | llaiiba 5 2 116 | Bunt 5x12 camopes 2 153 2| saxmenka 5
26| Bant M6x10 1 ;i g“aﬂ’z‘ﬂ‘i’iﬁ?ﬁgz } H; 3arnyml<6as e ; 153.3| mxana 1
27 | Bunt ynopusrii (pe3sba M5x9) | 1 I 2 Iletka (6,5%13,5x17) 154 | Bunt 3armymka M10x9 1
28 | Taiika M16 1 75 | Pyuxa ¢ukcaropa 1 119 | IleTkomepkarens 2 155 | Llmmet 1
29 | Illaii6a 12 1 76 (DHKucaTOp L 120 | Brynka pesbGosas 2 156 | Omopa 3agHss 1
= 77 | llaii6a 4 2 121 | Kopmyc amekTpoiBUraTes 1
30 | I'aiika M12 1 "
3 3 5 T0x32 1 78 | llaiiba npyxxuHHast 4 2 122 | Bua M5x20 4
i (pessba M10x32) 79 | Bunt M4x12 2 123 | Illaii6a 5 4 I'maBHBINA TeXHOIOT Kynpsimos JLA.
32 | Pyuka 3axuma 1 v
= 80 | Kponurreiin prraara 1 124 | Crarop 1
33 | Ulaiiba 5 1
OIOKMPOBKH 125 | dpoccens 2
31 | Buir M3x20 1 81 | TI'aiika M4 1 126 | Bunt 5x60 camopes 2
u - IT BTI.
35 | boar M8x20 (pe3pba neBasi) 1 82 | Phiuar G10KMpORKE 1 57 | ante 5 2 HXXEHEP-KOHCTPYKTOP eTpOB




ITnna
I[ITHO-1,5-254

JInuct 2

%123 122 121 120




